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B Bk AT 40 43 83 17.6 65.4 A1t & EE. 42 42 84 9.6 74.4
2 RIF =ik 43 42 85 17.6 67.4  _A2f: iEER MF 45 47 92 17.6 74.4
M e 37 48 85 17.6 67.4 43 &F% =KF 49 51100 25.6 74.4
Al HAE #EA 40 52 92 24.0 68.0 44k M —ift 46 54 100 25.6 74.4
S IIA B 36 39 75 6.4 68.6  45fz BWA EE 41 59 100 25.6 74.4
66 AIE IF 45 51 96 27.2 68.8 46t TE HB 45 44 89 14.4 T4.6
T B EE 43 42 85 16.0 69.0 47t JIF BB 42 47 89 14.4 74.6
8 A it 37 37 74 4.8 69.2 48t BRI f&h 56 46 102 27.2 74.8
o IO Eth 35 44 79 9.6 69.4  49f #E EE 47 39 86 11.2 74.8
100 FiR FEE 45 44 89 19.2 69.8 50tz HE BAE. 48 46 94 19.2 74.8
6 il /% 36 37 73 3.2 69.8  5lfr #ME M 46 47 93 17.6 75.4
1262 ANl 15 30 42 81 11.2 69.8 52 thiR EETF. . 41 52 93 17.6 75.4
1301 BAE & 44 53 97 27.2 69.8 B3 mA HWF 48 61 109 33.6 75.4
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06 wa HME 41 46 87 14.4 72.6  _70fr SPE 1T 46 60 106 22.4 83.6
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331 3 FH— 44 45 89 16.0 73.0
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3561 tE  HF 43 51 94 20.8 73.2
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